Semplificare i polinomi

e~ Tx— 4(6x + Tx) + 4x

28 + ) — 6 + xF — 2%

2(9x¢° — 3x) — 9% — 3x — 9x°

Ox? — dx + 6x° + 33x—x)

8% + 4x> — 3(6x° + 2x) + 3x

Data: Punteggio:

3%+ 5x— 202 — 2¢°) — x

4 + x+ 2x + 4y + 8x

4(5x + 5x) + 5x — ox° + 3x°

0x? — 3x+ Tx— Sx— 3x°

5x— 6x° + Tx> — Sx+ 6x°
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Semplificare i polinomi

Nome: Data: Punteggio:
T — Tx — 4(6x + Tx) + 4x 3%+ 50— 22 — 2¢°) —x
7% — 55x 3x% + dx
287 + 4x?) — 6x° + xF — 2x° 4% + x+2x+ 4 + 8x
—8x° + 25¢% 43 + 4% + 11x
2(9)63 — 3x)— 9% — 3x — 9 4(5x + 5x) + 5x — o + 3x?
o0 — 9% — 9x —0x> + 3x% +45x
9% — 4x + 6x% + 3(3x — x) 9x% — 3x+ Tx — 5x — 3x°
15x% + 2x 3+ 9% —x
8x° + 4x> — 3(6x° + 2x) + 3x Sx— 6x2 + 7x% — 5x + 6x?
—6x° — 3x T
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